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            Section - A
1.	 Out of the following means of transport which one is 
	 the heaviest? 
	 (A)  Car		  (B)  Motorcycle

	 (C)  Bus		  (D)  Cycle

	
	 (E)  None of these.

2.	 Name the animal given in the picture. 
	 (A)  Kangaroo
	 (B)  Ape
	 (C)  Rhinoceros
	 (D)  Leopard
	 (E)  None of these

3. Which one of the following is not a part of the game of 
	 cricket
		  		

	 (A)  Stumps	 (B)  Ball
                       
					   

	 (C)  Bat		  (D)  Shuttle Cork
	 (E)  None of these

4.	 What is the shape of Moon?
	 (A)  Square	 (B)  Rectangular
	 (C)  Round	 (D)  Triangular
	 (E)  None of these.

5.	 What is true about the national flag of our country?
	 (A)  It is square in shape
	 (B)  It is circular in shape   
	 (C)  It is rectangular in shape 
	 (D)  It is tri-angular in shape
	 (E)  None of these

6.	 How many legs does a cow have?
	 (A)  Four		  (B)  Five
	 (C)  Six		  (D)  One
	 (E)  None of these

7.	 Identify the animal who attacks rats.
		
					   

	 (A)  Horse		 (B)  Cat
		  		

	
	 (C)  Cow		  (D)  Goat
	 (E)  None of these
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8.	 Which of the following is the sign of equal to?
	 (A)  +		  (B)  = 
	 (C)  %		  (D)  – 
	 (E)  None of these

9. 	 A picture is given below. See this carefully and select 	 	
	 the correct statement.
	 (A)  This is a hockey bat
	 (B)  This is badminton 
	 (C)  This is a cricket bat 
	 (D)  This is a table tennis racket
	 (E)  None of these

10.	 Which one of the following personalities was the Prime
	  Minister of India? 

	 (A)  Vijay Amritraj	 (B)  Rajiv Gandhi

	
	 (C)  Dr. Rajendra Prasad         (D)  Sachin Tendulkar
	 (E)	 None of these

11. Pick out the option which is wrongly matched.
	 (A)  Cricket-Run 			 
	 (B)  Table tennis- Point	
	 (C)  Hockey-Goal			 
	 (D)  Badminton-wicket    
	 (E)  None of these

12.	 “Jana gana mana” is all time popular among Indians. It is 	 	
	 sung on various occasions. Which one of the following state-		
	 ments is correct about it? 
	 (A)  This is a film song 	
	 (B)  This is a story	
	 (C)  This is the national anthem of India	
	 (D)  This is the national song of India    
	 (E)  None of these.

13.	  If we are surrounded by plants, trees and flowers, then 	
	  the climate of our surrounding will be____.
	 (A)  Hot 		  (B)  Humid
	 (C)  Pleasant	 (D)  Dirty   
	 (E)  None of these

14.	 Which among the following is the largest land animal?
	 (A)  Whale	 (B)  Elephant
	 (C)  Mongoose	 (D)  Shark
	 (E)  None of these

15.	 Which one of following statements is false about the 
	 Mother’s Day of India? 
	 (A)  This is the day to remember and honour mothers
	 (B)  This is celebrated in May
	 (C)  This is celebrated on Monday
	 (D)  This is celebrated on the 2nd Sunday of May.
	 (E)  None of these

16.	 India has three national holidays. Which of the follow-		
	 ing is not a national holiday.
	 (A)  15th  August	 (B)  26th January 
	 (C)  2nd October	 (D)  14th November
	 (E)  None of these

    
    

Section - B (Logical Reasoning)

17.	 How many fewer circle than triangles are 
	 there?
	 (A)  6

	 (B)  4

	 (C)  8

	 (D)  5	             

	 (E)  None of these

18. Start with the greatest. Which one is it ?
	 (A)  8, 3, 4, 6

	 (B)  8, 6, 4, 3

	 (C)  8, 6, 3, 4

	 (D)  8, 4, 6, 3

	 (E)  None of these


